re-Calculus

More Practice with Laws of Logs

’ Expand each of the following as much as possible using laws of logarithms. When applicable, write “not possiblc. ’
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Condense each of the following into a single logarithm using properties of logs: o
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Solve each of the following:
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Evaluate:

125 1 2
31 logys| == 32 1 — 33 logg| ~——
B ) gzs[%j ) 0g49(7) ) Ogs[%}
H -4 1
3 > b
log4 16 ]
34) i‘*l_ 35) logz2+log;8 36) log,3-logy12 = I@(} i g
1 b i s
°g3(27) log, 4 g, 2 )
- A ‘9938 Y - yz
- {
3 3 B
37 . . log27 i - .
)  Which of the following —2== ?=jgg &1 (Circle all that apply)
log3 33
. 3
a) log9 (b D ¢ —log3 d) log24
38) Which of the following are equivalent? '
logg216 _ 3 . 216 =4
— =2 . logg— = L 216 —logg 36 = -
log, 36 Z ii. logg 36 i iii. logg 0g¢
a) i&ii W, ¢) iii d) none of these e) all of these
: == o
=" 39) Which of the following are equivalent?
i. %log27l0 ii. log 90 = |p’9q + 19910 . %+log3
23 llagero) b U991
) i &ii G)ji & iii%lo?aag +3 c)ii&iii d) none of these e) all of these
} Givenlog 7=x, log 5 =y, log 3 =z determine each of the following:
a) log9 I b) log 150 ¢) logs7 -
log 3 =:]l0g % ’Bﬂ lvg (55-3-2) eg T Ix
l6g$ +logSrleg3vlog 2 1y [ Y,
2y vz +lg2 i
d) log7 15 e) log3/5)y T f) log 30
a > \oa 2 - i ; 2-3.5
19915 . |95+l 2 log 3 — log S S (335)
S T =log 2 wles 31 1
= |z | Neg2 )t 2y |
X — -
( 41 ;/) State the domdin of each of the following:
= a) f(x)=In(%-x) b) f(x)=I1n(Gx+2)
9-x >0 3x+2 50
- ~x7 -9 3% 7 -2 |
< ’ -2 _Z
X<9 (‘m)q) X7°3 ( 3.&‘3 .

- /



‘State the transformations applied to the graph of /(x) which result in the graph of g (x).
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43) Given that f(x) = In(x + 3) determine each of the following:
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